We can transform this equation using the next trigonometric identities:

SeCX =

and c0s(90°— x) =sin x
COS X

We have:

c0s(2%) =3c0s(2x) +5sin(2x)

Since sin X = y1—cos® X then:
=3c0s(2X) + «fl— cos®(2x)

After the substitution cos(2x) =t we get the equation:

%:3t+\/1—t2

cos(2x)

N3

The roots of this equation are: —72 and ?

We have two equations for cos(2x):

cos(2x) = —%
cos(2x) = g

N7

First equation gives X = i%arccos (— 7} =467.5°

From second equation X = i%arccos(—ﬁj ~+31.7°

Answer : x = {—67.5°,-31.7°,31.7°,67.5°}
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